
BBA/M-20 10514
Financial Management

Paper - BBA-212

Time allowed : 3 Hours                      Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is 

compulsory. 

lHkh esa ik¡p ç'uksa dk ç;kl djsa A iz'u la[;k 1 vfuok;Z gS A 

Compulsory Question (vfuok;Z iz'u)

1. (i) Discuss the modern approach of financial 

management. 

(ii) Evaluate a project on the basis of IRR method.

(iii) Explain weighted average cost of capital.

(iv) State the importance of capital structure.

(v) What is operating cycle with reference to 

working capital ? 

foÙkh; çca/u ds vk/qfud n`f"Vdks.k ij ppkZ djsa A

vkbZvkjvkj i¼fr ds vk/kj ij fdlh ifj;kstuk dk 

ewY;kadu djsa A

iw¡th dh Hkkfjr vkSlr ykxr dh O;k[;k dhft, A

iwath lajpuk dk egRo crkb, A
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dk;Z'khy iwath ds lanHkZ esa ifjpkyu pØ D;k gS\

equkiQs ds ihNs D;k gS\ 

vki O;kikj dh foÙkh; vko';drk dks dSls fudkysaxs A 

jsfMDl daiuh ,d e'khu esa fuos'k djus ij fopkj dj jgh gS 

tks mRikn  dk mRiknu djrh gSA e'khu dh dher #- 

5]00]000 gksxh A igys o"kZ esa 10000 ;wfuV dk mRiknu 

fd;k tk,xk vkSj bldh dher #- 20 çfr ;wfuV gksxh A 

(vi) What is ploughing back of profits ? 16

2. How will you determine the financial requirement of 

business. Explain. 16

3. The Radex Company is considering investment in a 

machine that produces product A. The machine cost 

will Rs. 5,00,000. In the first year 10000 unit of A will 

be produced and the price will be Rs. 20 per unit. The 

volume is expected to increase by 20% and the price of 

product by 10% The material used to manufacturer 

the product is becoming more expensive. The cost of 

Production is therefore expected to increase by 15%. 

The production cost in the first year will be Rs. 10 per 

unit. The company used straight-line depriciation on 

the machine for tax purpose. There will be no salvage 

value of 5 year of the machine. The tax rate is 50% and 

the discount rate is 20%. Should the machine be 

bought.  16

A

A 
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mRiknu esa 20» dh o`f¼ vkSj mRikn dh dher esa 10» dh 

o`f¼ gksus dh mEehn gSA mRikn cukus ds fy, mi;ksx dh tkus 

okyh lkexzh vf/d egaxh gksrh tk jgh gSA blfy, mRiknu dh 

ykxr 15» rd c<+us dh mEehn gS A igys o"kZ esa mRiknu dh 

ykxr #- 10 çfr ;wfuV gksxh A daiuh us dj mís'; ds fy, 

e'khu ij LVªsV&ykbu fMçslu dk bLrseky fd;k A e'khu dh 5 

o"kZ rd dksbZ fuLrkj.k ugha gksxk A dj dh nj 50» vkSj NwV dh 

nj 20» gS A D;k e'khu dks •jhnk tk,s A 

iwath dh ykxr ls D;k eryc gS\ bfDoVh 'ks;j iwath dh ykxr 

dh x.kuk djus ds rjhds crk,a A 

iwath lajpuk ls vkidk D;k rkRi;Z gS A iwath lajpukvksa dks 

çHkkfor djus okys dkjdksa dh O;k[;k djsa A 

4. What is meant by cost of capital ?Explain the methods 

to calculate cost of equity share capital. 16

5. What do you mean by capital structure. Explain the 

factors affecting the capital structures. 16

6. The following in formation is available in respect of 

the growth firm, normal firm and declining firm.        

r = 0.15 for growth firm, 0.10 for normal firm and 0.08 

for the declining firm 
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k  = 0.10e

E = Rs. 10

You are required to calculate the dividend policy and 

value of the firm using Gordon's model when

D/P Ratio Retention Ratio

(1-b) (b)

(a) 40%  60%

(b) 60 % 40%

(c) 90% 10%

ke 

E

40%  60%

60% 40%  

90% 10%  

fuEufyf•r lwpuk o`f¼ iQeZ] lkekU; iQeZ vkSj fxjkoVh iQeZ 

ds laca/ esa miyC/ gSA o`f¼ iQeZ ds fy, r ¾ 0-15] lkekU; 

iQeZ ds fy, 0-10 vkSj fxjkoVh iQeZ ds fy, 0-08 gSa A

¾ 0-10

 ¾ #- 10

vkidks xkWMZu ds ekWMy dk mi;ksx djds iQkWeZ dh ykHkka'k 

uhfr vkSj ewY; dh x.kuk djuh gS A

Mh @ ih vuqikr j{k.k vuqikr

(1&ch) (•)

(d) 

([k) 

(x) 
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7. Define working capital. Explain the determinants of 

working capital what are the advantages of adequate 

working capital ? 16

8. Explain the different short-term source of borrowed 

capital. 16

dk;Z'khy iwath dks ifjHkkf"kr djsa A dk;Z'khy iwath ds fu/kZjdksa 

dks Li"V dhft, A i;kZIr dk;Z'khy iwath ds D;k ykHk gSa \

m/kj yh xbZ iwath ds fofHkUu vYidkfyd lzksrksa dh O;k[;k  

djsa A
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